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Direction : Answer the following questions
by selecting the correct option.

1.
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“Economics is a science.” The basis
of this statement is

(A) relation between cause and
effect

(B) use of deductive method and
inductive method for the
formations of laws

(C) experiment
(D) All of the above

According to mercantilist school of
thought

(A) imports should be greater than
exports

(B) agriculture development is key
to growth

(C) stock of gold is an indicator of
wealth

(D) None of the above

In order to explain economic
principles, the example of Robinson
Crusoe was often given, because

(A) he was an economist

(B) he was the first Nobel laureate
in economics

(C) he was an efficient entrepreneur
(D) None of the above

Economics can be best studied by
(A) inductive method

(B) deductive method

(C) analysis of data

(D) the combination of inductive
and deductive methods

The falling part of total utility curve
shows

(A) negative marginal utility
(B) increasing marginal utility
(C) decreasing marginal utility
(D) None of the above
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6. The total utility of a commodity can
be found by

(A) multiplying the number of units
by its marginal utilities

(B) adding up the marginal utilities
of all units

(C) multiplying price by the number
of units

(D) None of the above

7. If equation of the demand function
is g=30-4p, then what will be the
elasticity of demand when price

p=37?
") -2
B -2
© -2

(D) None of the above

8. Cross elasticity of complementary
goods is

(A) negative

(B) high

(C) positive

(D) None of the above

9. The total effect of a price change of a
commodity is

(A) substitution effect + price effect

(B) substitution effect + income

effect
(C) income effect + price effect
(D) None of the above

10. Slutsky theory in
theory relates to

consumption

(A) income effect

(B) substitution effect
(C) Both (A) and (B)
(D) None of the above
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The revealed preference theory is
based on

(A) utility and demand
(B) introspection
(C) observed consumer behaviour

(D) None of the above

In a Cobb-Douglas production

0=40L%° K%  the
output (Q), if L =16 and K =9, is
A) 500

B) 480

C) 400

D) None of the above

function
(
(
(
(

The elasticity of substitution
between two inputs in CES
production function

(A) decreases continuously
(B) increases continuously
(C) remains constant
(D

) None of the above

Rectangular hyperbola is the shape
of

A) average fixed cost curve

w

) total fixed cost curve

@)

) marginal cost curve

[P —

D) None of the above

The vertical distance between total
variable cost curve and total cost
curve is equal to

A) total fixed cost

" 2z

average cost

e

marginal cost

P

D) None of the above
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If market demand curve is 200 — 25P
and market supply curve is
- 100 + 25P, then equilibrium
output in the market would be

(A) 25 units
(B) 100 units
(C) 50 units
(D) None of the above

In a perfectly competitive market, if
there is an increase in supply

(A) price and quantity both will
increase

(B) price and quantity both will fall

(C) price will fall and quantity will
increase

(D) None of the above
In perfect competition, the total
revenue curve of a firm is a/an

(A) upward going line
through the origin

passing

(B) horizontal straight line
(C) vertical straight line

(D) None of the above

On a graph for a monopolist or
monopolistic competitor, which of
the following curves coincide?

(A) The demand and marginal
revenue curves only

(B) The average revenue and
marginal revenue curves only

(C) The demand, average revenue
and marginal revenue curves
only

(D) None of the above
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Marginal revenue of a monopoly firm
is less than the price, because

(A) demand curve has a positive
slope

(B) demand curve has a negative
slope

(C) monopolist incur losses

(D) None of the above

Imposing a lump-sum tax on a
monopoly firm will result in

(A) price reduction

(B) price increase

(C) No effect on price and output
(D) None of the above

When price discrimination is done
for each unit sold, it is called the
price discrimination of the

(A) third degree

(B) second degree

(C) first degree

(D) None of the above

Under oligopoly, the price rigidity is
the result of

(A) product differentiation

(B) kinked demand curve

(C) interdependence among the
firms

(D) None of the above

Under Cournot’s model, the

intersection of reaction curves

shows

(A) the price charged by each seller
(B) the output of each seller

(C) both price and output of each
seller

(D) None of the above

20.

21.

22.

23.

24.

GET IT ON
Google Play

@A GG GG AN 2
@SS v SCoEF W, FE9

(A) B @R TR AN

(B) BIfzwl (F41E BT 4o

(C) GFCHA FRAE! o FIFR IR
(D) Tocaa (@IGE

GFOHT FRAMNT S GFFeAle e
AT F9 AR FCA

(A) W 2PT AR
(B) ™ I 7R

(C) N @R TRAMCAT S2F (Il AOR
ACT =l

(D) TR (@bR T

IR FRAIE I @R Afelb @
REeE (Feq 729 v 9 I O 9T
@ BER TN 2RI e O] 2E

(A) vom
(B) faSw
(C) @2
(D) TR (@R 7

fercalleifeics Wi Yool (@ P WCH
23

(A) T 7R
(B) BTG SIfzwl @4

(C) Teoime  ofowmshi AR
[ESERIEI)

(D) ¥R @be T

Feof Tewee el @2 Al (=
fvee @ =1
(A) 2ife Rcem bl 7

(B) afe fcarer Tesmees “Ifa=

(C) afs Reorom wN @R TRAMER
wfaIel

(D) To[Cad (FRbe 77



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

25.

26.

27.

28.

29.

/19

Game theory explains the behaviour
of

A

~—

interdependent persons

oy

) independent persons

Q

) persons who are not related

—_— e~ e

D) None of the above

According to modern theory, rent is
equal to

(A) total payment on a factor

(B) total opportunity cost

(C) total payment less supply price
(D) None of the above

Marginal revenue product curve is
a/an

A
B

~—

(A) inverted U-shaped curve
(B) upward going curve

(C) U-shaped curve

(D) None of the above

Liquidity trap
which implies

is a phenomenon

(A) rate of interest cannot change

(B) rate of interest cannot fall below
a particular level

(C) liquidity cannot change
(D) None of the above

Efficiency in the distribution of
products among consumers Occurs
when

(A) price = marginal cost

(B) marginal rates of technical
substitutions are equal

(C) consumer’s marginal rates of
substitutions are equal

(D) None of the above

25.

26.

27.

28.

29.

GET IT ON
Google Play

A rFo FIUog SHICeR @ A [/
ol 25

(A) *R=AEE @7 fFsamie afema

(B) F& wfewm

(C) I~oRbEl Tfeers

(D) TR @Ebe 7@

Y g ACS G AR AR A
OIS

(A) THFACR S (G AT

(B) 15 [l IR

(C) G %I JCW (6 2T

(D) TR @2 T

2% = T (@41 =5 G
(A) TN U SIpfes @4
(B) e7cad e Teo A @l
(C) U Sgfos Gl

(D) TR (@M 7

G T G99 G350 SRF T 5 29

(A) o= 2R “Ifaee 2Ce ~AIcd =1l

(B) 0 2 @ T8 Bww Ao =Ce
NCT <N

(C) I=eN RS 2¢® 2I1q =1l
(D) TR @2 T

(SISIME 0 GG 5+ ©Ye3 F o[
e

(A) 7Y = AT I/
(B) 21fes FIRaR “IFISorR o) 7 =7
(C) (el AEF “RISOR 2/ AT =
(D) TR @Ebe 7@

[ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

30.

31.

32.

33.

/19

A solution of Walrasian general
equilibrium will exist if and only if

(A) the condition of Pareto’s law of
income is satisfied

(B) Pareto’s condition of optimality
is satisfied

(C) Hicks’ stability conditions are
satisfied

(D) None of the above

Gross
Gross

The difference between
Domestic  Product and
National Product is equal to

(A) net income from abroad
(B) depreciation
(C) transfer payments

(D) None of the above

Net National Product at market price
and Net National Product at factor
cost will be equal when there is/are

(A) no direct tax
(B) no direct tax and no subsidy
(C) no subsidy

(D) None of the above

Domestic factor income consists of
income generated by

(A) the resident producers only
(B) the non-resident producers only

(C) all the producers within the
domestic territory of the country

(D) None of the above
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A sells intermediate inputs worth
¥ 400 to B. B sells the manufacture
goods worth 400 to C and worth
200 to D. C sells his goods to D for
¥500. D sells the final goods to
consumers for ¥850. What is the
gross value added at market price?
(A) ¥600

(B) ¥850

(C) 700

(D) None of the above

In a circular flow of income model in
macroeconomics,

(A) the firms provide goods and
services to households

(B) the firms provide factor services
to the households

(C) the households provide factor
services to firms

(D) Both (A) and (C)
GNP (Gross National Product) is the
gap between

(A) GNP and NNP
Product)

(B) GNP and depreciation

(C) potential and actual GDP (Gross
Domestic Product)

(D) None of the above

(Net National

In the classical model, real wage rate
is assumed to be

(A) flexible both in the upward and
downward directions

(B) flexible in the upward direction
but rigid in the downward
direction

(C) rigid in the upward direction
but flexible in the downward
direction

(D) None of the above
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In Keynesian analysis

(A) both demand for and supply of
labour are functions of money
wages

(B) demand for labour is a function
of real wages but supply of
labour is a function of money

wages

(C) both demand for and supply of
labour are functions of real

wages

(D) None of the above

Unemployment rate is a ratio
between unemployed population
and

(A) employed population

(B) total population

(C) total labour force

(D) None of the above

In the IS curve, if interest rate goes
up

(A) saving also increases
(B) investment declines
(C) Both (A) and (B)

(D) None of the above

The LM curve has a positive slope
because

(A) the demand for money increases
with the level of income but
decreases with the increasing
interest rates

(B) investment increases by fall in
interest rates
(C) the IS curve has a negative

slope

(D) None of the above
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The absolute income hypothesis
suggests that consumption depends
on

(A) past income

(B) current income
(C) expected income
(D)

None of the above

In an economy, the consumption
function is 300+ 0-8Y. At what level
of income saving is zero?

(A) 1500
(B) 1200
(C) 240
(D

) None of the above

Choose the correct relation where
APC and MPC have their usual
meanings.

(A) In the short-run, APC rises as
income rises

(B) In the long-run, APC > MPC

(C) In the short-run, MPC rises as
income rises

(D) None of the above

In the Keynesian theory of

investment, the capital stock rise if
(Here MEC = Marginal Efficiency of
Capital)

(A) MEC
(B) MEC >
(C) MEC <
(D

) None

rate of interest
rate of interest
rate of interest

of the above

When the intrinsic value of money
and its face value are equal, it is
called

(A) token money
(B) fiat money

(C) standard money
(D

) None of the above
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Which of the following would cause
a bank to lose reserves?

(A) One of the bank’s depositors
pays out a cheque to a depositor
of another bank

(B) One of the bank’s depositors
makes an Internet payment to
another of its depositors

(C) The bank raises the interest rate
it pays on deposits

(D) None of the above

Who told that the quantity theory of
money should be regarded as a
theory of demand for money?

(A) M. Friedman
(B) J. M. Keynes
(C) Patinkin

(D) None of them

“The theory of transaction demand
for money also depends on the rate
of interest.” It was put forwarded by

(A) Keynes and Pigou
(B) Baumol and Tobin
(C) Friedman and Fisher

(D) None of them

The demand for money will fall, if
(A) real GDP rises

(B) real interest rates rise

(C) people expect deflation soon

(D) None of the above
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An increase in money supply causes
(A) interest rates to rise, investment
spending to rise and aggregate
demand to rise

(B) interest rates to fall, investment
spending to fall and aggregate

demand to fall

interest rates to fall, investment
spending to rise and aggregate
demand to rise

(D) None of the above

High-powered money comprises

(A) currency held by public + cash
reserves of bank

(B)
©)

total currency + total deposits

currency held by public +
demand and time deposits +
cash reserves of bank

(D) None of the above

Money supply M3 includes

(A) M+ M,

(B) M; + post office savings deposit
(C) M; + net time deposits of bank
(D) None of the above

The reverse repo rate is

(A) lower than the repo rate
(B) equal to repo rate

(C) greater than the repo rate
(D) None of the above

Inflationary gap is defined as

(A) an excess of aggregate demand
for money over aggregate supply

of money

(B) an excess of aggregate demand
for commodities over aggregate
supply of commodities at full
employment

(C) an excess of savings over
investment

(D) None of the above
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The Phillips curve describes the
relationship between

(A) the unemployment rate and the
inflation rate

(B) marginal tax rates and tax
revenues

(C) inflation and production

(D) None of the above

During recession, in order to

stimulate aggregate demand, the

objective of monetary policy is to
influence

(A) inflation rate
(B) growth rate
(C) interest rate

(D) None of the above

Which of the following has become a
prominent objective of monetary
policy after the recent Global
Financial Crisis?

(A) Economic growth
(B) Reduction in unemployment
(C) Inflation control

(D) None of the above

Who among the following is
associated with the pure monetary
theory of trade cycle?

(A) Hicks
(B) Hawtrey
(C) Samuelson

(D) None of them
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The period of the business cycle in
which real GDP is increasing, is
called

(A) peak
(B) recession
(C) expansion

(D) None of the above

“If a country has got absolute cost
advantage in respect of both the
products, trade cannot take place
between them.” Who among the
following said this?

(A) Adam Smith
(B) David Ricardo
(C) Both (A) and (B)

(D) None of them

The necessary and  sufficient
condition for trade between two
countries is

(A) difference of labour cost
(B) difference of comparative cost
(C) difference of absolute cost

(D) None of the above

Comparative advantage in Ricardo’s
international trade theory arises due
to

(A) labour cost differences
(B) differences in factor endowment

(C) factor abundance defined in
terms of factor prices

(D) None of the above
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Which of the following conditions is
not assumed by the factor-price
equalization theorem?

(A) The countries are characterized
by different factor endowments

(B) The industries are characterized
by different factor intensities

(C) The countries are characterized
by different production
functions

(D) None of the above

The opportunity cost curve assumes
that

(A) labour is the only factor of
production

(B) the price or cost of a commodity
can be inferred from its labour
content

(C) labour is homogeneous

(D) None of the above

Which of the following is not taken
as a gains from international trade?

(A)
(B)
©)

Cheaper availability of goods
Protection of domestic industry

Increase in
consumption

income and

(D) None of the above

The Prebisch-Singer thesis on

international trade implies that

(A) the developing countries have
constantly suffered a deficit in
their balance of trade

(B) the developed countries export
capital goods to the developing
countries

(C) there has been a steady

deterioration in the terms of
trade of developing countries

(D) None of the above
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The concept of immiserizing growth
was put forwarded by

(A) Jagdish Bhagwati
(B) Raul Prebisch

(C) Hans Singer

(D) None of them

Which of the following is not a type
of terms of trade?

(A) Net barter terms of trade
(B) Direct taxes terms of trade
(C) Real costs terms of trade

(D) None of the above

Which one of the following is not a
demerit of protection?

(A)
(B)

It limits the choice of consumers

It reduces the volume of foreign
trade

©)
(D)

It protects domestic industry

None of the above

Which of the following is a non-tariff
barrier?

(A) Transit duties

(B) Foreign exchange regulations
(C) Customs duties

(D) None of the above

The devaluation of a currency is
likely to improve the balance of
payments of a country, if

(A) elasticity of demand for exports
+ elasticity of demand for

imports is greater than one

(B) elasticity of demand for exports

is less than one

(C) elasticity of demand for imports

is greater than one

None of the above
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The term ‘paper gold’ means

(A) Special Drawing Rights (SDR) of
the IMF

(B) deficit financing
(C) currencies still on gold standard

(D) None of the above

Which of the following factors is to

be considered to calculate the
balance of payments (BoP) of a
country?

(A) Current Account

(B) Changes in the foreign exchange
reserves

(C) Errors and omissions

(D) All of the above

Which of the following is not stated
as the purpose of International
Monetary Fund?

(A) To help in the development of

the less developed countries

(B) To promote international

monetary cooperation

(C) To facilitate the expansion and

balanced growth of international
trade

(D) None of the above

The concept of public finance is
similar to that of

(A) private finance

(B) corporate finance

(C) Both (A) and (B)

(D) None of the above
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The fundamental principles of public
finance rest heavily on the
contributions of

(A)
(B)
©)
(D)

Dalton
Pigou
neither Dalton nor Pigou

both Dalton and Pigou

The basic principle to be followed by
a State in managing its finance is

(A)
(B)
©)
(D)

employment principle
foreign trade principle
stabilization principle

None of the above

The role of a State in public finance
includes

(A) allocation
(B) distribution

©

(D) All of the above

stabilization

Capital expenditure of a government
includes

(A) expenditure for

roads

constructing

(B) expenditure for of

salary to engineers

payment

(C) expenditure for of

salary to workers
All of the above

payment

(D)

In case of indirect tax

(A) impact and incidence of tax fall

on same persomn

shifting of tax burden is not
possible

impact and incidence of tax fall
on different persons

None of the above
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The basis to measure elasticity of
tax is

Z

tax rate

tax base

b

either tax rate or tax base

— o e
~

S

None of the above

Index to determine ability to pay
taxes includes

Z

income

Y

consumption expenditure

Q

) property
D) All of the above

P

Which one of the following canons
of taxation are not prescribed by
Adam Smith?

(A) Simplicity and elasticity
(B) Economy and convenience
(C) Equality and certainty

(D) All of the above

Goods and Services Tax is an

extended form of

>

) entertainment tax

b

income tax

@)

) wealth tax

— e

D) value-added tax

Peacock-Wiseman
related to

hypothesis is

(A) public goods
(B) private expenditure
(C) private goods
(

D) public expenditure

20

82.

83.

84.

85.

86.

GET IT ON
Google Play

Fcaa Tefogleee wfmieem fefe 2e
(A) ST

(B) 9 wieorsfe

(C) 4 2F A 79 weOTefa

(D) 7 @MbE T

T MICTE e R o eeS
2P

(A) =R

(B) CSI9RA

(C) e

(D) Toices AABf

9 IReER RIS (PR TR el
e 2ve 77 2

(A) FeTel @ Ffewegel
(B) IRPICFS] € Hale]
(C) 77l 8 foroe

(D) TcaR SRBfeT

A @ S[JCIA FCEF PO T 26
(A) 2TIW K
(B) ¥ ¥4

(C) % %9

(D) T T

- ARG 2T AM A A
I

(A) o@Dy

(B) Tfeare a1
(C) If&T Ty
(D) EIE ™


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

87.

88.

89.

90.

91.

/19

Public expenditure can give rise to
inflationary pressure when that is

(A) rising effective demand
(B) full employment

(C) accelerating
accumulation

(D) All of the above

capital

Present-day public debt will put a
burden on future generation when

(A) present saving is not reduced

(B) present productive
remain unaltered

capacity

(C) debts are raised externally

(D) All of the above

Instruments of fiscal policy includes
(A) changes in tax rates
(B) changes in tax base

(C) changes in
expenditure

(D) All of the above

government

The value
multiplier

of balanced budget

A) equals unity

C) Both (A) and (B)

(

(B) equals zero

(

(D) None of the above

Indicators of economic growth and
economic development are similar
except the concept

(A) growth in national income
(B) growth in per capita income
(C) structural change

(D) All of the above
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Development of  health and
educational facility is an indicator of

(A) economic development
(B) economic growth

(C) both economic development and
economic growth

(D) None of the above

“Economic development is
concerned with quantitative changes
and economic growth is concerned
with both quantitative and
qualitative changes in an economy.”
This statement is

(A) True

(B) False

(C) Not established yet
(D) Not related to changes

The  construction of Human

Development Index (HDI) does not

require which of the following

indicators?

(A) Infant mortality and child
mortality

(B) Enrolment rate in primary and
secondary education

(C) Per capita income

(D) None of the above

Country A has high growth rate of
national income with low income
base than country B with low growth
rate of national income with a very
high income base. Which country be
taken to be a developed one?

A) A

(B) B

(C) Both A and B
(D) Neither A nor B
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Requirements of the ‘take-off’ stage
of growth as proposed by Rostow
does not include

(A) high growth rate of population

(B) high rate of
investment

productive

(C) development of leading sectors
of production

(D) None of the above

Evolution from one stage of growth
to another one, according to Marx, is
due to the contradiction of

(A) forces of production and
relations of production
(B) technological progress and

factors of production

(C) sociological forces and factors of
production

(D) growth of labour force and
relations of production

Surplus labour in rural sector,
according to Lewis, can be used by
urban capitalist sector only when
there is

(A) disguised
rural sector

unemployment in

(B) high cost of migration from
rural to urban sector

(C) Both (A) and (B)
(D) None of the above

One of the main proponents of
unbalanced growth strategy of
economic development is

(A) Hirschman
(B) Friedman

(C) Krugman

(D) None of them
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Choice of technique for planned
economic development is actually a
choice of

(A) capital-intensive technique or
labour-intensive technique

(B) present development or future
development

(C) Both (A) and (B)
(D) Neither (A) nor (B)

Indirect benefit of international
trade in economic development
includes

(A) division of labour
(B) specialisation in production
(C) inflow of foreign capital

(D) None of the above

Trade as an engine of economic
growth is strongly supported by

(A) historical evidences
(B) theoretical arguments
(C) Both (A) and (B)

(D) None of the above

Foreign aid as an engine of economic
growth is strongly supported by

(A) historical evidences
(B) theoretical arguments
(C) Both (A) and (B)

(D) None of the above

Project-based foreign aid is an
example of

A) tied aid

(
(B) general purpose aid
(C) untied aid

(

D) None of the above
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Impact of environment on
development can be economically
explained by

(A) externality
(B) common property rights

(C) fixed supply of non-renewable
resources

(D) All of the above

India is a developing economy since

it has a

(A) steadily increasing
capital formation

rate of

(B) high per capita income

(C) high rate of employment in
service sector

None of the above

Difficulty in estimating national
income in India arises due to

(A) non-availability of household
consumption expenditure data

(B) non-availability of data on
income of small businessman/
entrepreneur

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Trend in Indian national income

since independence shows that

(A) share of agricultural sector is
rising

(B) share of industrial sector is
rising

(C) share of service sector is falling

(D) All of the above

Employment in India is generated
mainly in the

(A) organized sector

(B) unorganized sector

(C) self-employment sector
(D) None of the above
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High incidence of rural poverty in
India is due to

(A) disguised
rural sector

(B) low asset
households

(C) Both (A) and (B)
(D) Neither (A) nor (B)

unemployment in

base of rural

Agriculture is the most important
sector in Indian economy because

(A) it contributes to Indian export
trade

(B) it helps to eradicate poverty

(C) it helps in
development

(D) All of the above

industrial

Productivity in Indian agriculture is
hampered by

(A) use of agricultural technology

(B) decline in investment in

agriculture
(C) organized irrigation system

(D) None of the above

Contribution of Green Revolution in
India includes

(A) increased production of cereals
(B) stagnant production of pulses

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Green Revolution has given rise to
(A) equality in income distribution
(B) labour-intensive farming

(C) labour displacement

(

D) None of the above
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Land reform measures include

(A) abolition of intermediaries

(B) discouraging share cropping
(C) concentration of land holdings

(D) All of the above

Agricultural labourers in India

mainly are

(A) landless and attached to

landlord
(B) landless and independent
(C) Both (A) and (B)
(D) None of the above

Agricultural labourers in India are
poor because they have

(A) high bargaining power

(B) high organizational power

(C) high intermittent employment
(D) All of the above

The condition of Indian agricultural
labourers can be improved by

(A) raising minimum wage
(B) rural employment
(C) introducing labour cooperatives

(D) All of the above

Institutional sources of rural credit
in India includes

(A) commission agents
(B) landlords
(C) moneylenders

(D) None of the above
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Which one of the following is an
example of Regional Rural Banks of
India?

(A) Tripura State Cooperative Bank

(B) Tripura Urban

Bank

Development

(C) Tripura Gramin Bank
(D) None of the above

The example of large-scale industry
in India includes

(A) cotton textile industry
(B) paper industry
(C) petrochemical industry
(D) All of the above

If investment in plant and
machinery does not exceed 25
lakh, then the industry shall be
classified as

(A) medium industry
(B) small industry

(C) microindustry
(D

) None of the above

Ownership of industrial unit is

highest under

(A) non-corporate sector
(B) corporate sector

(C) cooperative sector

(D) None of the above

Industrial disputes in India arises
out of the

(A) demand for more wage
(B) demand for payment of bonus

(C) indisciplined behaviour of
industrial labourers

(D) All of the above
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The Payment of Bonus Act applies to

(A) all government employees

(B) all factory workers

(C) Both (A) and (B)

(D) Neither (A) nor (B)

Balance of trade for the first time

since independence in India was

positive in the year

(A) 1966-67

(B) 1972-73

(C) 1990-91

(D) None of the above

Trend in Indian export after

independence shows that

(A) export of agricultural product is
decreasing

(B) export of manufactured goods is
increasing

(C) Both (A) and (B)

(D) None of the above

International trade situation of India

since independence with USA shows

that

(A) both export and import are
decreasing

(B) both export and import are
increasing

(C) export is increasing, import is
decreasing

(D) export is decreasing, import is
increasing

Establishment of Free Trade and

Warehousing Zone (FTWZ) was

introduced in

(A) Foreign Trade Policy, 1985

(B) Foreign Trade Policy, 2002

(C) Foreign Trade Policy, 2004

(D) None of the above
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Invisible balance of Indian balance
of payments comprised of

(A) services

(B) services and income

(C) services, income and transfers
(D) None of the above

Which of the following income tax is
not imposed by the Union

Government of India?
(A) Agricultural Income Tax
(B) Personal Income Tax
(C) Corporate Income Tax
(D) All of the above

Taxes imposed by State
Governments of India include

(A) Land Revenue

(B) Value-added Tax

(C) Goods and Services Tax
(D) All of the above

In Union Budget of India at present,
which of the following types of deficit
is not shown?

(A) Budget deficit

(B) Revenue deficit
(C) Fiscal deficit

(D) None of the above

The objective of monetary policy
followed in India includes

A) expansion of economy
B) changing supply of money
C) curbing inflation

(
(
(
(D) All of the above
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Non-Banking Financial Company
(NBFC) is not characterized by
which of the following features?

(A) Deals in loan finance
(B) Deals in investment finance

(C) Controlled by the Reserve Bank
of India

(D) All of the above

The Planning Commission in India
was established in the year

(A) 1947
(B) 1948
(C) 1949
(D) 1950

Sources of finance for plans in India
were

(A) domestic budgetary support
(B) external assistance
(C) deficit financing

(D) All of the above

During the plan period in the twenty
first century in India, which of
the following phenomena was
observed?

(A) Rate of savings increased

(B) Rate of investment increased
(C) Neither (A) nor (B)

(D) Both (A) and (B)

During the plan period, the form

of external assistance which
contributed most was

(A) loan
(B) grant
(C) technical support
(D) None of the above
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The Planning Commission of India is
now replaced by which of the
following institutions?

(A) NITI Plan

(B) NITI Sadan

(C) NITI Aayog

(D) None of the above

Statistical data can be presented in
the form of

(A) table

(B) diagram

(C) Both (A) and (B)

(D) Neither (A) nor (B)

The example of a circular diagram to
present statistical data is

(A) pie chart

(B) bar diagram

(C) histogram

(D) All of the above

For any finite numbers of positive
values its

(A) Harmonic Mean
Geometric  Mean
Arithmetic Mean (AM)

(HM)
(GM)

vV v

(B) GM > AM > HM
(C) AM > GM > HM

(D) None of the above
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An index number is

(A) a device to simplify comparison
over time

(B) a weighted average

(C) Both (A) and (B)

(D) None of the above

Which of the {following pairs of

indices are not used to have an idea

about inflation?

(A) Index of Industrial Production
and Gross Domestic Product
Deflator

(B) Consumer Price Index and
Gross Domestic Product
Deflator

(C) Wholesale Price Index and
Gross Domestic Product
Deflator

(D) All of the above

If the mean deviation of a

distribution is 64, its standard

deviation is

(A) 80

(B) 7-8

(C) 6:8

(D) 58

Which of the following pairs of

observation should show a negative

correlation in line with economic
theory?

(A) Income and consumption
expenditure

(B) Quantity supplied and price of
that commodity

(C) Speculative demand for money
and rate of interest

(D) All of the above
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If x and y are two variables, then
from the regression line x on y we
can have
(A) estimated value of X
corresponding to a given value
of y
(B) absolute value of X
corresponding to a given value
of y
(C) Both (A) and (B)
(D) Neither (A) nor (B)
Which one of the following
mathematical functions is a linear
one?
(A) y=ax?+bx+c
(a, b, ¢ = constant)
B) y=ax3+bx?+cx+d
(a, b, ¢, d = constant)
(C) Both (A) and (B)
(D) Neither (A) nor (B)
Slope of a demand curve for normal
goods is
(A) positive
(B) negative
(C) zero
(D) There is no slope
34
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3. Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.
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4. The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.
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5. Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile
phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.
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6. Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.
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7. No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her
seat.
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8. Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after
taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.
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9. The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.
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10. Use of any type of calculating device is prohibited.
@ CIIC GACT IEFCIBCER A2 I2jefahe] il |

11. The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.
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12. No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.
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13. On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away the Question Booklet with them.
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